ORGANIZACION DEL COMPUTADOR |

Ejercicio 3:

]'"6761 I _[i—uﬂ ‘guq h.

s— ‘.cf._i

i SEr . T

hje-'-is +[1*'--“1 il

: : A\
ade==g utmp?mJ-r Actl=d Ndati dgk-=p RSy 3 l"_}l
| 'I\'I akaen / 1N ’:
(|1 | cug 2 | )] Y] BHD G T | L)
i 1
n....%: t - L { !
':;:»o . == t/§==¢ ;I:ﬁm fegsrd Nackel)Y 12g==0 [[tcke
= [“ T, 3 ‘\ o I _f'r}.
L I P oyel qh ks | 1 l
e =k
" oeaMEs / f’ @l' \ ( -
iy bl ildcalal il
-l
P [‘LJ_ 3 \ L‘*‘J
-L] U] acks=d oy ehuall oo TN 12 L
r-:—ao \ m’ﬂi'“l |
3 B~ e mlo Hﬁ'h{um:m « n:ll
i A f o g0 A | fi-1Y U] | ledla hendig ¥
e Hr‘l' t\j’ck T 1 =)oy ». {d
4] 31 =y il- tfg=al] & -%:t:i::::o
[ 5‘] t “‘l li,%f“h‘A ’i'rﬁ'c'q_
) & dakagil; [ (3L
: [}ﬁ‘l] et L1 ]{

8/6/17



ORGANIZACION DEL COMPUTADOR |

K==(

-1

3-H

R3]

8/6/17



